Copyright Lappset Group Ltd

% LAPPSET.

FINNO

707419

DATE: 15.3.2016 1(2)
e (1) 980128 |pcs|(2) 900240 |pes|
Il 8 4 |
o7x40 | | e8x70 | |
(3) 909852 |Pes|(4) 909256 |Pes
2| 7]

-
M8x30 | | @16/8.4x1.6| |
(5) 909633 |pes| pos|
@ ) :
Me | | ]
) P
DET 3 . —

+870
| | +90
+0 [T [T




Copyright 1998 Lappset Group Ltd

% LAPPSET. 707419
FINNO DATE: 15.3.2016 2(2)
CLIMB OPTIONS
/707418 /707418—701 BLUE
/07418—-702  YELLOW
/07418—703  LIME
/07418—/04 DARK GREY
/07418—/05  GREY
/07418—706 RED
/707418—707  GREEN
/07418—/08  FUCHSIA
700x1000
DET 1 DET 2
908291
- MEx 350
908291 > D (909852)
ﬁ\
00 716 /8.4x1.6
A Bl L D > (909256)
D7 x40 @W6/864x16% M8
(980128) (909256) :ifjj%\\\ (909633)
DET 3

(980128)
28x70
(900240)




Copyright Lappset Group Ltd

% LAPPSET.

705258

FLORA DATE: 9.4.2013 1(1)
(1) 705256 |pes|(2) 705257 [Pcs|
/ ) -
32x45x702 | | 32x750x750 | |
(3) 900240 |pes|(4) 980101 |pcs|
8
28x70 | | w@45x70 | |
PCs| PCS|
= =
% 38 ] ]
(@]
2
3 a
800
DET 1 DET 2 DET 3
705256 4 5% /0

@3x /0

7

(i
N\

\

=4

NOTE:

Same plane.
HUOM:
Samassa
tasossa.




Copyright Lappset Group Ltd

% LAPPSET.
FLORA

705262

DATE:  30.3.2020 1(2)
(1) 705248 |pcs|(2) 905083 |pes
il K 4]
- | 4]
DET 1, 3 2 ‘4 ‘\\f\\;\\“
I DET 2, 3 I
< (3 905112 [pes|(4) 909232 [pcs]
g lil 4 4
L ® ||=|
[l @22 | | esxa20 | |
(5) 980151 |pcs(6) 900240 |pes|
4 16
o16/84 | | @8x70 | |
U
U — -
o o o =
[k {
I {
db db ddb b
[1 [T [T
800 2400




Copyright 1998 Lappset Group Ltd

% LAPPSET.

705262

FLORA DATE:  30.3.2020 2(2)
DET 1 032 DET 2
ATT |
Pre drilling
» Pomm
JEx /0
@éxﬂdL/// (900240)
909232
716 /8.4
980151
@22
905112
DET 3
Jmjil HJ@[
L)
@)
@)
LO)
@)
jmjin G @[ N
L)
L)
l |




Copyright Lappset Group Ltd

% LAPPSET.
FLORA

705310

DATE:

20.5.2015

1(2)

L]

755

25

(1) 705245 |pes|(2) 980104 |pes
A1 iE
| /

.e’
\ - -
53x119x754 25x90

(3) 901868 |pcs|(4) 909867 |pes

/ 1] 2]

034x598 | | Mex70 | |

(5) 999561 |[pcs| Pes
. 1

O

L

I
GLUE

10 g




Copyright 1998 Lappset Group Ltd

% LAPPSET.
FLORA

705310

DATE: 20.5.2015

2(2)

DET 1 DET 2

NOTE:

Chamfers of the pole and

narrower must be mounted

in the same direction.

HUOM- /05221

Tolpan ja kaventajan viisteet

tdytyy asentaa saman suuntaan.

@5x90
N 901868
/05245 ]

DET 3 DET 4

90986/

12




Copyright Lappset Group Ltd

% LAPPSET.

705506

FLORA DATE: 9.4.2013 1(1)
(1) 705486 |res|(2) 905051 [ps|
2 6
@ 2| 6|
! @
45x120x660 | | @24/8.4 | |
(3) 909232 |pes|(4) 905066 [pcs|
6 | 6|
8x120 | | s3oH | |

660

120

909252
905051

905066
o




PCS
4
PCS

1(1)

8x120

=
224/8.4

(905051)
905066

705487
8x120

(909232)
724 /8.4

45x120x590

(1) 705487 |pcs|(2) 905051
2]

(3) 905066 |pcs|(4) 909232
il
PCS
CS

S30H

22.4.2013
G
'Ou

705507

DATE:

DET 1

®
DET 1

480

e T
. 7/A m

% LAPPSET
FLORA

|
p17 dnous 3jesddo jybhdon



Copyright Lappset Group Ltd

% LAPPSET.

705511

FLORA DATE:  9.4.2013 1(1)
(1) 705510 |pes|(2) 900240 |pcs|
<\Al> o5 L i
YD s
P s
P P
P s
) P
—
DET 1 DET 2 PCS PCS

AN

8x/0

/05511

200

PCS

PCS




Copyright Lappset Group Ltd

% LAPPSET.
FLORA

706234

DATE: 13.10.2015 1(5)
(1) 706176 |pes|(2) 901879 |pcs|
éﬁ ] ]
870 | | ]
(3) 707133 |pes|(a) 901868 |pcs|
i 2]
10x80x745 | | @30x598 | |
(5) 909210 _s@ 905051  |Pes|
4] 4]
o
M8x40 Q24/8.4-
(7) 980128 |pcs| pes
E 9] H
g7x40 | | ]
ol ©
NN
LT (1]
‘ 670 ‘ 1650




Copyright 1998 Lappset Group Ltd

% LAPPSET.
FLORA

706234

DATE:

13.10.2015

2(5)

DET 2

901879

J7x40

/ /" (980128)

B %
P ﬂ
N
T 2
2 o2

Insert sheet metal IN to the
plastic cover.
_— EN Impact Area 10.6 m2
- Falling Space 10.6 m2
Max Falling Height 1000 mm.
3
2000 @
n
N
3
o
o
o
o
o
n
3740




% LAPPSET

706234

FLORA DATE:  13.10.2015 3(5)
DET 3 DET 4 901868

M8x40 i

(909210)

@24 /8.4

(905051) -

707133
@ @24/8.4
901868 (905051)

~._ M8x40

(909210)

Copyright 1998 Lappset Group Ltd




706234

DATE:

% LAPPSET
FLORA

4(5)

13.10.2015

P31 dnotg jesddo] geel 1yblikdo)



% LAPPSET

FLORA

706234

DATE: 13.10.2015

5(5)

Copyright 1998 Lappset Group Ltd

7@7\17}
IR 0 9%

777777 Q N 9QeQ ‘

Q o) 9

G,
g
IE

/00x200x100
CONCRETE

/00




% LAPPSET.
DEEP FOUNDATION

FOOT

DATE: 13.3.2014

4A

Copyright Lappset Group Ltd

100

c 00




Copyright Lappset Group Ltd

% LAPPSET. FOOT

BETON FOUNDATION o

27.10.2015

(2) 905104 |pcs

)

M10




% LAPPSET.

FOOT

DEEP FOUNDATION DATE:  15.5.2018 1(1)
@ (D 909511 |pes|(2) 909519 |Pes|
1
909511 /911155 H
MTOx25 o ) 90x90x650 | | 50x380x380 | |
(909639) (3) 909637 [res|(4) 909638 [pcs|
4 8
@20/10.5 )
(909638) ~ \m# =
£ ! - -
N \\;%%} M10 220/10.5
S E () 909639 |rcs|(5) 905104 [pcs|
S 4] 4]
Miox25 | | M0 | |
/
OPTION FOOT
9095719 MT0O
(D 911155 |ees pes
(909637) & ]
90x90x650

Copyright Lappset Group Ltd




Copyright Lappset Group Ltd

% LAPPSET.

909521

FINNO DATE:  15.6.2003 1(1)
(1) 909511 [pes|(2) 909519 [pcs|
1
(3) 909637 |pes|(4) 909638 [Pcs|
4 8 |
1@)
= &
Mo | | 201105 | |
(5) 909639 |pes| PS|
4 -
DET 1 i - -
M10x25
) P
) P
s s
DET 1 — -
909511 ] -
10x25

@20

909519

PCS

PCS




Copyright Lappset Group Ltd

% LAPPSET.

A10251

FLORA DATE:  17.1.2018 1(2)
(1) P12350 |pes|(2) P12353 |pes
§ ]
L=2400 | | B
(3) P12352 |pes|(2) 705528 |pcs|
— K —
(5) 705529 |pes|(6) 900240 [Pcs|
\ L @W i
| esx0 | |
(7) 905087 |pes|(8) 909137 |pes
4 4
q ] ]

DET 3 %
| wmi2xso | ]
(9) 909248 |pes|(10) 980128 |pcs|
4] 6

Nawé
M2 | | e7xa0 | |
(1) 980154 |pcs| pes|
il -
@24/13 | | ]
s s
PCS PCS

‘ 800 ‘




Copyright 1998 Lappset Group Ltd

3% LAPPSET.

A10251

FLORA DATE: 17.1.2017 2(2)
DET 1 DET 2 DET 3
& @7x40
705528
705529 - /05190
a NOTE
Center boom
9EK3W3/7\\\§ grooves accurately
> = to the roof truss.
Q¢P”' é:\\\\\LeOve no gaps!

980154

HUOM

Asena puomi
keskelle kattotuolia)
Ald jatd rakojal

NOTE:

Head of the element
to the end of groove.
HUOM:

Flementin padd

uran pddhdn.

P12353

NOTE:

Install booms

in to the cut

of the roof truss
Leave no gaps!
HUOM:

Asenna puomit
kattotuolin loveen.
Ald jgtd rakoja!

DET 6

P12350




11.5.2017

LAPPs

g ot
ity Mﬂnvmxm

o

123 po
RS oy
Tierg ,;“*"

o
Nz

LAp
gg:lgm?? ET Groy t
FINLANS VANIE d

123456

W4 py
F567g9

Tuotekyltti tulee tuotteen mukana yhdella seuraavista tavoista:

1) Metallinen tuotekyltti ja kiinnitysruuvit

- Kiinnita tuotekyltti ruuveilla tolppaan noin 2 metrin korkeuteen kuvan 2 mukaisesti.

2) Tuotekylttitarra

- Puhdista maalattu metalli- tai vaneripinta pdlysta ja kosteudesta. Liimaa tarra kuvan 3 mukaisesti.
- Huom. Al3 kiinnita tarraa karheapintaiseen laminaattiin tai maalattuun puuhun.

Var produktmarkning levereras pa ett av féljande satt:

1) Produktskylt i metall
- Fast skylten med de medféljande skruvarna

2) Sjalvhaftande produktetikett

-Rengérdenpulverlackerademetallytanellerlaminatytansaattdenblirfrifransmutsochfukt. Fastetikettenenligtfig. 3.

- Obs! Fast ej etiketten pa detaljer med skrovlig yta eller pa malat tra.

Product label is delivered by one of following ways:

1) Metal product label and screws
- Fasten the label with screws.

2) Label sticker

-Cleanthepaintedmetalorplywoodsurfacefromdirtandmoisture.Fastenthestickerasshowninthefigure3.
- Note. Do not attach the sticker to rough surfaced laminate or painted wood.

La plaque d’informations produit est livrée sous I'une de ces 3 formes :

1) Plaque métallique et vis
- Fixez la plaque a l'aide des vis.

2) Etiquette autocollante

- Avant de coller I'étiquette, nettoyez le composant métallique peint ou la plaque de contreplaqué, de toute saleté. La surface

doit étre séche (voir image 3).

- Attention, ne pas coller I'étiquette sur une surface lamellé-collée irréguliére ou sur du bois peint.

Die Auslieferung des Produktaufklebers erfolgt auf eine dieser Arten:

1) Produkt-Schild aus Metall incl. Schrauben

- Die Befestigung des Schildes erfolgt mittels der Schrauben.

2) Aufkleber

-EntfernenSiezunachstSchmutzundFeuchtigkeitvomlackiertenMetallbzw.vonderHolzoberflacheundbringenSieden

Aufkleber wie im Bild oben rechts beschrieben auf den gesauberten Untergrund auf.
- Beachten Sie: Bringen Sie den Aufkleber nicht auf raues laminiertes oder lackiertes Holz an.

LAPPSET GROUP LTDP.O. Box 8146 | FIN-96101 Rovaniemi | Tel: 0207 750 100 |

lappset@lappset.com | www.lappset.com



Copyright Lappset Group Ltd

% LAPPSET.

FINNO

705230

DATE: 6.6.2014

720

800

(1) 705210 [pes|(2) 903093 [pes|
jm 1] o]
| esxe0 | ]
PCS PCS
PCS PCS
PCS PCS
PCS PCS
PCS PCS
DET 1
©8x90
R




Copyright Lappset Group Ltd

% LAPPSET.

705246

[ (900240)

[&] [=]

Iﬁ

FLORA DATE:  6.8.2013 1(1)
(1) 705215 |pes|(2) 900240 [pcs|
a 0 o
. DET 1
| esx0 | |
s s
\\\\\\\\\\\\ \\\\\\\\\\\\\\_DET1 B B
P s
P o)
P s
| 20 § | -
DET 1
\J
@8x70
o

800




705247

DATE:

% LAPPSET.
FLORA

1(2)

(1) 705218 |pes|(2) 705531

2.8.2017

PCS

PCS
12

12]

2]

45x145x1124

@8x90

224/8.5

2]

2]

70x145x965
(3) 705532 |pes|(4) 900240

45x145x527
(5) 705541 |pes|(6) 903093 |pes

70x145x770

(7) 909230 |pes|(8) 905051 [pes

WM

8x150

DET 4

DET 1

DET 2

0]%

e
?/@ (@]
o
©
ol A — O
BeBe—————J | ¢
- N
M | :
o
(o) &
lTQ
W ’/@ (@]
(@]
| O
m / 0zL |
. |
(0L8+ ¥0014) 0L
- (0L¥1+ ¥0014) 0LSL
()]
W o
o
o0

P17 dnoug jesddp jybiruhdo)




Copyright 1998 Lappset Group Ltd

38 LAPPSET. 705247
FLORA DATE: 2.8.2017 2(2)

/05231
/055352

WEx90
(903093)

/05218

1200

1200

1200

1

BRIDGE

(905057)

3x150
(909230)

/05541

8x90
(903093)

@24 /8.5

(905051)

3x150
(909230)

/05041

BRIDGE

—— BOOM

!






